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TECHNICAL ASSISTANT (CHEMICAL ENGINEERING) - POST NO 1426

1. Fefafed & 9 S I3 o &1 eifie srure $m?

Which of the following will follow the Raoult’s law more closely?

(A) T & YR BT 35%fde1a+/35% solution of Camphor in Water

(B) UM H ST &1 35%(deraH/35% solution of Ammonia in Water

(C) =i, Ticls adT STSe &I Ua fd@a/a solution of Benzene, Toluene and Xylene
(D) AT, TTele aUT FARIBIH BT T faaa-

a solution of Methanol, Toluene and Chloroform

2. Tl R oM # e fganurt iy o1 wnifére arosfied ................ gl
The relative volatility of a binary mixture in an azeotropic composition is.......
(A) 1
(B) X[A/Zero

(C) 3=dd/Infinity
(D) 13 ®H/less than 1

3. TR OO U H G .o BT NS GUFHRUT fba ST g |

Industrial separation of ... is done by a gaseous
diffusion process

(A)  91g Y AIEeIeH T siddtsH/Nitrogen and Oxygen from air
(B) W & FERUTHA®/Isotopes of Uranium

(C)  TIESIoH auT SYCiRad/Hydrogen and Deuterium
(D) IR S8 ATRISS 4T arg/Sulphur dioxide and air

B, o T TR 3T T AUS HGER {41 o1 3|
Flash distillation is widely practised in .................

(A) a1 FHfor gfel/Soap manufacturing units
(B) Uciferad ufsnul/Petroleum refining
(C) 3T J=eiwor ¥d/Ammonia synthesis plant

(D) dgd®IdRUl RT/Polymerisation industry




5. o H 9fg & 91y, Fgd g W, gt § 191 @ fadg T .o...........

With increase in temperature, at fixed pressure, the solubility of gases in liquids ......

(A) Fgdl 8/increases

(B) et g/decreases
(C) 3mafRafedd &t 8/remains the same
(D) WuTTelt & 3ER A I1 B/A or B depending on the system
6. fordll MATT TR & AHAH o AT A9 qUT SHHM 3RO BT &=l BT ST
SECERGII

................. number indicates the ratio of rates of heat and mass transfers in the
case of a Cooling tower.

(A)  BRgE/Sherwood
(B)  =I/Stanton
(C)  Igd/Lewis

(D)  Udkic/Peclet

7. i ifuferar Ay e R WrHifde quT S argEEl IR 3RaTHIfae U T 8 df Ot T
3iffepar & forw Fofefaa 3 o a1 98t 82

A reaction is spontaneous at low temperatures and non-spontaneousat high
temperatures. Which of the following is true for such a reaction?

(A) AH>0,AS >0
(B) AH>0,AS=0
(C) AH <0, AS >0
(D) AH <0, AS <0

(A) 3TaNTE! gReeaT/Avogadro hypothesis
(B) SId d1HE- wHTd/Joule Thomson Effect
(C) UR%d [=gd/Pascal’s Law

(D) fH@I% FH/Kirchoff’s Law



Carborundum mainly consists of........

(A)Ffrad fferare/Calcium Silicate
(B) Sifead fferde/Sodium silicate
(C)Rifie Praigs/Silicone Carbide
(D) &g H1aigs/Calcium Carbide

10. forgp! A% BT TG AT ST 82
Which one is called a Sailor’s Soap?

(A) f&ax 3fiferee/Sodium Oleate

(B) UiefRrw sfiferde/Potassium oleate

(C) difeay arsfia Tethe/Sodium lauryl sulphate
(D) e affee/Calcium Oleate.

11. 909 ¥ & 10 °C §¢1d & UIY Th IS fhar & & g 8t g1 o d 39
3ifohaT T AT 30 °C ¥ 60 °C TP Sgdl & a8 AHAT BT &R .o CESI
For every 10 °C rise in temperature, the rate of a chemical reaction doubles. When the
temperature of a reaction is increased from 30 °C to 60 °C, the rate of a reaction
increases.........

(A) 4 A1/times
(B) 8 T[I/times
(C) 6 T1/times
(D) 12 1/times

12. forelt aRe o1 R a7 fhft eRT YW .o SRT A forar Sira |

The localised velocity of a fluid along a streamline can be measured by

(A) diel Ard/Pitot tube

(B) a1 ATt/ Ventury meter
(C) rem™dt/Rotameter

(D) ¥ A1dl/Orifice meter



13.

14.

15.

16.

aAfE logyx X= 48 @ X e 3
Solve X, if logy, X=4.

(A) 2

(B) 16

(C)4

(D) 24

foraft amert 3 SruFh AT & gER He H 5 fob i P am 311 T8 UR €e H 3P AR B idt
few siftie o1 R de & 3= g U I 1/5 di fexy siftres aen &1 i del & 35
oot QR A B2

A man travelled 5 km in the second hour of his trip. This was %" more than he
traveled in the first hour. In the third hour he travelled 1/5 " more than he did in the
second. How far did he travel in three hours?

(A) 6 foH/km
(B) 13.8 f& 4t /km
(C) 20 foo.#t /km
(D) 15 f& .5t /km

frafaRad & 9 ®F 91 53 g1 FiEd 9 9 I8 o8 ¥ faafera g ge

Which of the following liquid pairs deviate from Raoult’s law positively?

(A) STd-HCIl/Water- HCI

(B) S=iH-AYAld/Benzene — Methanol

(C) UHieH-FIRIBIH/Acetone- Chloroform
(D) STa-HNO3/Water- HNO3

AT & T & 1, TS DI TCIUT o

As the time is passing, entropy of the universe ..........
(A) gt o T8t //is increasing

(B) f&R &t 8/remains constant

(C) wedit o X&) g/is decreasing

(D) Qafga™ =181 foar ST ¥ehdi/cannot be predicted



17. 0.6% giRAT faeT, ..o o 1Y JHIRNIR] X |

A 0.6% Urea solution would be isotonic with......

(A) 0.05 M NaClfded+/solution

(B) 0.6% Na CI fae@=/solution

(C) 0.6% @ fae@+/glucose solution
(D) 0.10 M &N fa@@/glucose solution

18. 5 feepyur & vRyad faemaes Harss &1 T e T8l g T, Fife
The solvent used in liquid extraction should not have high latent heat of vaporisation,
because.........

(A) TS T ST § 3R 3Ty Ut &) anTa sgd i gt
the pressure drop and hence the pumping cost will be very high
(B) 34T gRT 3Y G-I:UTGd Ta] fabal ST Hahdl/it cannot be recovered by distillation
(C) 3G GRT I AU BT AT SHATHBRY 3R HAH
its recovery cost by distillation may be uneconomically high
(D) 3T RT 9T & IHY 98 3fudfed g S
it will decompose while recovering by distillation

19. 25 °CIR[S STd HI A UG ... gl
The molarity of pure water at 25°C is ................

(A) 100.1 M
(B) 50.2 M
(C)55.4 M
(D) 18.0 M

(A) I9d ifde dYHM & 3HUR/above its critical temperature
(B) 39 hifde diIHM o d/below its critical temperature
(C) I Hhifde dIIHM UR/at its critical temperature

(D) fodit g\ UR/at any temperature



21. o & forg fadt 107 (@) Teh T B H,55 T U] 3R CO,%3 T U] &I T U o 42

22.

T SUICO, % AIY Ya=T ST A ¢ | TG Ianad 10 UTH 0] 39 U HI BIS Od & al 39
IdIE HH, &1 Ufa=rd fasa g2

In a batch processfor mixing, 5 moles of Hz and 3 moles of CO> entered a vessel with
42 moles of CO>. If 10 moles of product leaves the vessel, what is the percentage of
H> in the product?

(A) 80
(B) 50
(C) 30
(D) 10

foreit RUdeR HCO, U HL0, @1 3MYfd St 81 37 TS H 40% CO2, 30% Ho0 T 30%
H2COsg | CO,®! THRUT &R TUT SMGI BT & & §id BT U T RTT?

A reactor supplied with CO2 and H;O, the product contains 40% CO2, 30% H.0 and
30% H2COs3, what is the ratio of feed rate of CO> and rate of products?

(A) 0.4
(B) 0.8
(C) 0.7
(D) 0.3

23. fordlt X & Wifae!, IAEfaR aut It & e 3:4:6% SUTd B §1 3 Wiel &l Ha:

10%, 20% 1R 50%3 3Td H 9G4 &1 UdTd & | T4 7T Tiel &1 SFUTd T 8I?

Seats of Physics, Chemistry and Mathematics in a school are in the ratio 3:4:6. There
is a proposal to increase these seats by 10%, 20% and 50% respectively. What will be
ratio of increased seats?

(A) 11:16:30
(B) 16:12:15
(C) 16:11:30
(D) 12:16:30



24. Tt ua & - Ue Rama g1 REE & 3 9 Ugd 39 U & AR diUHH WR 4 He
TURT S FehdT UT| 3§ ISP o ¥ HeT S ol g1 afc a8 U HRT g g <) k9 &
HRU o Hel § a8 foagpa @Ml gf Sem?

There is a leak in the bottom of a vessel. Before the leak it could be filled with water
in 4 % hours at room temperature. It now takes % hour longer. If the container is full,
in how many hours would the leakage empty the full container?

(A) 40 h
(B) 36 h
(C) 56 h
(D) 45h

25. g1 Ryae! &1 THh A1 I T SfTaT 81 T A1e! MY S &1 Wiidasd fovat 82
Two coins are simultaneously tossed. What is the probability that two heads are
simultaneously appearing?

(A) 1/8
(B) 1/6
(C) 1/4
(D) 1/2

26.ARFA[0 0 -3 | BI Do gl
9 3 5
31 1

Rank of the Matrix A

(A) 0
(B) 1
(€) 2
(D) 3



27. fE I qUT HCIT FRReTf fir8/01 108.5 °C TR ST § af T8 FAT—T .o &l
If the azeotropic mixture of Water and HCI boils at 108.5 °C, this solution
1S i,

(A) 3MTeRi/ideal

(B) 4-Td® faaer o 1Y 3MTaRi/non ideal with positive deviation
(C) Bunds fdaa & Ty 3MERl/non ideal with negative deviation
(D) Yafga™ =18l foar ST wadi/cannot be predicted

28. I U Uerd g 5
A fluid is a substance that ...............

(A) IR =Y I fapfa &1 ufeRie Hdl 8/permanently resists distortion
(B) T fapfd &1 ufcRiy =81 =l 5/does not resist permanent distortion
(C) FAf¥a v TaaT § S ATIHH & 1Y el e
has a definite density that does not change with temperature
(D) T W1 & ForIehT Tt AT g1 farar o bl

has a viscosity that cannot be accurately measured

29. forft e &1 I ............. ¥ A g forar ST ]

(A) Pad a1 & 3fcR/pressure difference only
(B) dd [=R0& gTa/absolute pressure only

(C) (A) T (B)aHi/both (A) and (B)

(D) R o1 a1 ara/fluid velocity and pressure.

30. AT9HH | §¢1d & HRUT fhd! 5d D AEAT o
Viscosity of a liquid................... with increase in temperature.

(A) Tt 8/decreases

(B) dadl &/increases

(C) 3myIfdd Tl 8/remains unaffected
(D) 395 ¥ PIg a1/None of the above



K & IR fordt Ursy o gur HieRTY, V2 U ¢ |

The friction resistance in a pipe is proportional to V2 according to...............

(A) ATEe I=A/Reynolds number
(B) TI3S I&=&AT/Froude number
(C) 9&R T/ Weber number

(D) 98X - HI38/Weber - Froude

32. GO (IMERT HU & MHR B HH B & o4 Fafiad & § &F a1 a9 vged foean
ST 872
Which of the following laws is used for particle size reduction by crushing?
(A) fH@w ad/Kirchoff’s law
(B) STee At /Dalton’s law
(C) I3 aH/Raoult’s law

(D) §vs f99H/Bond’s law

33. ¥ UTH I UHany Bl ST § | U WY U § U g1 AT faams o &1 Wil foat
37
Three dices are thrown together. What is the probability that the same number appears
simultaneously?

(A) 1/6
(B) 1/36
(C) 5/36
(D) 5/216



34. R feame Y ot & BRI B ©: X 3ff B 39 THR W@ T € b TdS Ufdd o 3-9-%H
TH X B fra TR & I8 THa 87
Six X s have to be placed on the squares of the figure shown below, in such a way that
each row has at least one X . How many ways it is possible?

(A) 26
(B) 28
(C) 27
(D) 30

35. U ot TG TV .o H1gIP 5|

(A) TH TYT YRT ¥ Farg/smooth and streamline flow
(B) Uccig Udrg/laminar flow

(C) 3rufad varg/steady flow

(D) 3= U&sd Udig/highly turbulent flow

36. oo 3 od Med TR §H1E o 9hd g |

Tubeless tyres can be made from,
(A) faeiv 3ag/Viton rubber
(B) sgfcd X&g/Butyl rubber
(C) fafera I&g/Silicone rubber
(D) A1gcIgdd Xa8/Nitrile rubber

(A) 9d Ufd gfAc &=/force per unit area
(B) ¥ Ufd gfe waTs/force per unit length
(C) &d ufd gfAc Frai/force per unit time
(D) §q . gll/force . distance

10



38.

39.

40.

41.

frafafad o 9 &F 91 T /A FIR 8

Which of the following is a coarse crusher?

(A) f&%® HRR/Disc crusher

(B) Rig=4l %HRR/Conical crusher
(C) Md@ HRR/Roll crusher

(D) B PRR/Jaw crusher

I IR BT 91 Fa1z¥ o g wife"s &1 ga1 & fawraa & ufa 3! 3 ufora
& PRI H,SO4T07 F R g1 S 31

Name the catalyst which is chosen for H.SO4 manufacturing mainly due its superior
immunity to poisoning compared to Platinum,

(A) TiO2
(B) V20s
(C) aa/Nickel
(D) CuO

fheit UISU & 3/ IR & HRUT aR U8 BT MUGRT ..o ERI fean S 5l
The loss of head for fluid flow due to sudden expansion of a pipe is given by

(A) he = (Vi2- V)] 2

(B) hu = (V1> V2%)/ g

(C) he = (Vi- V2)2/ 29

(D) Sudad & ¥ U ot 78l/none of the above

feruferd uerdf % uftag & fod Tod Ifad Fa8® ... gl

Most suitable conveyer for transportation of sticky substances is .............
(A) TYH Hdrgdh/apron conveyer
(B) Scc Hared/belt conveyer

(C) Tp Hargh/screw conveyer
(D) dTdiig HdTgds/pneumatic conveyer

11



B2 oo 98 Gagd §, STl 3U&RSD Uerf Hhulkdagd & o Ifed 78l g

A conveyer not suitable for transportation of abrasive material is ................

(A) deT Hargd/belt conveyer
(B) UYH Hargd/apron conveyer
(C) 4@dr Hdrgd/chain conveyer
(D) 3™ Hargsh/flight conveyer

43, SR B YHT YA &b SHIEY GoqHT R0 BT fAHRH YU ... TR |
Corresponding to Nusselt number in heat transfer, the dimensionless group in mass
transferisthe........................ number.

(A) Uaic/Peclet

(B) *gS/Sherwood
(C) f&e/Schmidt
(D) ®=<i/Stanton

44. 3TH TR 90 TR 319 I gad fHdl UISud ITH! daTg & HRUM0 IR BT U BidT ¢ | TRl
1 G&rel fobat gIi?
A pipe with a pressure of 90 bar at the inlet suffers a drop of 10 bar over its length.
What is the efficiency of transmission?

(A) 33.3%
(B) 66.6%
(C) 77.7%
(D) 88.8%

45. fAgfoiad Iusull ¥ fhud gRT WIER terd &I dreT off Tl §

Fibrous material can be broken by which of the following equipments?
(A) USRI wrR/Squirrel cage crusher
(B) I 3fa fird/Two roll mill
(C) <& e/ Tube mill
(D) dfd farc/ball mill

12



46. AT BT TR T oo T fval &1 Tvear gfad a1 ]

“Mesh” in sieves indicates the number of holes per ...........
(A) IR gd/square inch
(B) ¥IR Ppc/square foot
(C) Y& Z3/linear inch
(D) XRa& Fe/linear foot

47. 2 fo5 T YR & WIS S Uered 125%3Md Ul & 3faR gd gU Wifaderdl & | 39T fafky
@ foha 52
A spongy material having a weight of 2 kg, floats in water with 25% of its volume
inside water. What is its specific gravity?

(A) 0.75
(B) 0.5
(C) 0.4
(D) 0.25

(A) B8R HR/hammer crusher
(B) E0ae fird/impact mill

(C) AR HRR/roller crusher
(D) & fid/tube mill

49. fe Iuor 1% R 1F I T M BT FA TS ..o ® dl ®lexA gt ufed g
Cavitation will not occur if the sum total of pressure and velocity heads at the suction
sideis ....ooevviennnnn..

(A) =[/Zero
(B) TRd & AW aI§ ¥ 34fUd/larger than the vapour pressure of the fluid

(C) dRd & Y ard ¥ ®H/smaller than the vapour pressure of the fluid
(D) dRd & a9 aId & ax1eR/equal to the vapour pressure of the fluid

13



50. forlt Tsharct gufdhs o ¢[d BN &b JUIHRUT & AT B I T JIRGR 82
Which force is responsible for the separation of dust particles from gases in a
Cyclone separator?

(A) 3radgl/Centrifugal
(B) Td/Gravity
(C) dadhia/Magnetic

(D) faggd/Electrical
51. TR B/BT oo % AU 8 W IR Ua=avTHT ST IGART faa ST B |
A hot wire anemometer is used for measuring .............. of gases.

(A) <Td/pressure

(B) =gTdI/viscosity
(C) d/velocity

(D) drg#H /temperature

52, oo 9 gara 8 & st Fiow & ool Wfdd FRUe aaE & 9qd 91 &
U gl

---------------- law states that total emissive power of a black body is proportional to
the fourth power of absolute temperature

(A) f@Iw g /Kirchoffs law

(B) ¥ Sieotd™ a#/StefenBoltsmann law
(C) wiie fAgd/Plancks law

(D) BT Fa#/Fouriers law

53. Y& 4d B! fHeran & fae Fofafed gfeaal & 3 9 Suga ., gl

To remove the finest dust, which of the following devices suits the most........
(A) Tshard! gufda/cyclone separator
(B) o ftheex/bag filter
(C) fRagygd gufdra/electro static separator
(D) g flhecx/drum filter

14



54. ToIH R0 gfed g9 & fo fFafafad & & o 9 ga=n ug 8?2

55.

56.

S7.

Which among the following is always true for mass transfer to occur?

(A) igu # 3fdr/Difference in concentration

(B) aI§ ¥ 3idv/Difference in Pressure

(C) arH H 3fcR/Difference in temperature

(D) Y faya ¥ sfar/Difference in chemical potential

foreft faeram & facy A$0.3 U 30, BH0.2 I 0] 3R CH0.591 (U] JHifed &1 39
oo o AT HId- 31T fobe=1 gHmT?

A solution contains 0.3 moles of solute A, 0.2 moles of B and 0.5 moles of C. What
will be the mole fraction of A in the mixture?

(A) 0.3
(B) 0.2
(C) 0.5
(D) 1

frafoied & ®F 91 /e &1 gfHe 81 9dhdl 872

Which among the following can be the unit of Flux?
(A) kg*m?*st
(B) kg*m?*s
(C) kg*m*s?
(D) kg*m*st

..................................... A gR1 e gy i i g |
Fick’s law is given by the formula

(A) N p=—DpcdC p/d x

(B) Nb=—2 DpcdC v/d x

(C) Nb=—3DpcdC v/d x

(D) Nb=—4 Dy dC v/d x

15



The dimension of diffusion coefficient is given by
(A) MLT
(B)L?T?
(LTt
(D)ML2T

59. U 3T UehH T, T UHATE T,
In a distillation process, at total reflux, the.....................

(A) 3R T g/residue is nil

(B) 3gd T4 g/distillate is nil

(C) usare I g/reflux is nil

(D) &4 &1 39T 8¢ aidl g/liquid stops to boil

60. facra o1 0.30 3.3, I 31v] wd 600fF. 7. faamras & gad fardt faeem &t Aad.......... gl

In a solution containing 0.30 Kg mole of solute and 600 kg of solvent, the molality is

(A) 05
(B) 0.6
(C) 1.0
(D) 2.0

61. FafiRad 49 o1 91 o1 &1 THR 61 87
Which of the following is not the type of energy?

(A) T/Enthalpy
(B) TIdl/Entropy
(C) dra/Heat

(D) ®Ri/Work

16



62.

63. U

64.

65.

HIS I 3T 10 Hiex et B 3R bR 5 wiex aroy it 81 g8 W 5 N & fad 9d & 9y
o SITaT 51 39 99 §RT o T BT febaT 62

An object moved forward 10 meters and then comes back 5 meter, all with a constant
force of 5 N, what is the work done by the force?

(A) 5 5[c/Joules
(B) 25 S[ci/Joules
(C) 50 Sci/Joules
(D) 75 S[ci/Joules

(A) 3Rl wiel B Jaide T=A/maximum number of ideal plates

(B) 3MT¥aH HIaH &1 SdTs/height of the distillation column

(C) Tsifad wiel &t =g7ad T=/minimum number of theoretical plates
(D) S¥dH Uydre 3fJUrd/optimum reflux ratio

9 faca uerd s gera: fhdt sifaca 31 & g8 R § T4 o dhad 39 faads gR1 9%
R T o1 § 9 S JaTed [l S 6 39 o GRS

The operation involved when the soluble material is largely on the surface of an
insoluble solid and is merely washed off by the solvent is called ...................

(A) ®T1Y/decoction

(B) sid:&dul/percolation
(C) &ra-/elution

(D) 31@=N¥Ul/absorption

TP USU & HILH ¥ UdIied gl 35 fhdl dRd & AMA H Uedd IUURd BT 3 SHIARU]
BT oo ERIBAT ]I

In case of a liquid flowing through a pipe, heat transfer in the laminar sub-layer is
mostly by

(A) vonfed Fag-/Forced convection

(B) Wi Hag-1/Natural convection
(C) dret/Conduction
(D) Hav/Eddies

17



66. SR J§ W fau 74 {5t &1 Taio ... gl

Purpose of fins provided on heat transfer surface is

(A) STHIRUT &3 &I §¢H1/To increase the heat transfer area

(B) S™HIARUT T[UTids &1 dgMI/To increase the heat transfer coefficient
(C) T3 T U A1/ To achieve mechanical strength

(D) dT9 UaUTdT &I §GMI/To increase the temperature gradient

67 oo & AT § Uigd TRe gad HH B
Prandtl number is least in case of

(A)=ar <d/Viscous liquid
(B)Urt/Water

(C) &aur faerg-i/Salt solution
(D)=a 4rd/Liquid metal

68. S UT3Y 3°HT fafRHas! & a8 aigar &) St @ oie

Double pipe heat exchangers are preferred when

(A) %d 3% T Ugfd &1 8/Liquid is more viscous in nature

(B) 3Ma<Tdh IHSHIGRUN & HH g/Heat transfer area required is low
(C) Tyuf SSHIcRUT T[uTids %W &/Overall heat transfer coefficient is low
(D) %4 W&Re® g/Liquid is corrosive

69. BIRY o & SrguTfadd & fRRIE B .o I ST STl g

The constant of proportionality in Fourier”s law is known as

(A) S FreIehdl/ Thermal conductivity
(B) ™1 fawRurierdr/ Thermal diffusivity
(C) dm4 ydurdi/Temperature gradient

(D) SSHIGRUI TJulich/Heat transfer coefficient

70. I8 A1, S od H HTT & 1Y HTH BAT S, TP oo gl
The evaporator working with steam in the tube is a -------------------

(A) Y d SHeETeR aferE/Short tube vertical evaporator
(B) <4 et Seafer amf®E/Long tube vertical evaporator
(C) Robe Trsy alwE/Basket type evaporator

(D)  &fct =7l afSr/Horizontal tube evaporator

18



71. 3o faf o & forg TRgd g og@ e ) & R g

Minimum recommended tube pitch for heat exchanger is equal to

(A)TIE &1 371S1/0D of the tube

(B) &E & 3fist &7 1.25 TA1/1.25 times OD of the tube
(C)&E & 38t &7 1.5 THA1/1.5 times OD of the tube
(D) & 3ffSt &1 2 THA1/2 times OD of the tube

(A) I I &a B FdwIa/Remove liquid from vapour

(B) "ufd &1 HepTc/Remove condensate

(C) a1d ! affrd ®=A1/Regulate pressure

(D) 3ffaf¥ad U1 &1 FepTa ¢/ To vent out the excess steam

73. SR Ui GFC @A B HEl gl

Rate of heat transfer per unit area is called ------------------

(A) S Freidbdl/Thermal conductivity
(B) ™1 3ff¥arg/Heat flux

(C) IHtHIT faeRumRiTerd/ Thermal diffusivity
(D) fafRry &wA1/Specific heat

74. T & TT B JIgUT HIoTT JIA AN ..o gl

The evaporator recommended for concentrating fruit juice is ------------

(A) TY el SHeaieR I/ Short tube vertical evaporator
(B) dTd Teft Seater a1/ Long tube vertical evaporator
(C) urcit fled arfer/Falling film evaporator

(D) uenfid fiser amfe=/Agitated film evaporator

19



75.

76.

77.

78.

POt fafdRor o1 7 fawiTas fom sdrdr | & walfie wawaff fafswoh wfd o1 ees
ITF R ATHA ST ..o &l

Wien’s displacement law for black body radiation states that wave length for
maximum monochromatic radiating power IS = ---------m--m-mm-moeoe- absolute
temperature

(A) Tgd urd/Fourth power of
(B) ¥ T@/Square root of

(C) wfaaimrgarcdl/Inversely proportional to

(D) UA&TuTdl/Directly proportional to

SI§ ATIH YU H180 °C T 30 °C & ofid ST T ST § a9 afe 100 mm Alers &
Ay g & g8 H3 m2HFT & HR-UR 90 Wbl IS aTfed gidl § o 39 Uard &t el

Calculate the thermal conductivity of the insulation material of thickness 100 mm , if
90 W of heat flows across 3 m? of its surface when the temperature gradient is
maintained between 80 °C and 30 °C

(A) 0.5 W/ (m.°C)
(B) 1 W/ (m.°C)
(C) 0.06 W/ (m.°C)
(D) 0.02 W/ (m.°C)

w1 fafge ogal ¥ ehdUIa gRT SR ! giHare UfoRiY &1 B ..o
ERUETIRSIGI

The resistance to heat transfer caused by scale formation in heat exchanger tubes is
accounted by -----------------------

(A) GRgyur 7[ureh/Fouling factor
(B) &YUT Ui /Friction factor

(C) Heuur I[urid/Drag coefficient
(D) U wR/Boundary layer

ST AR H ¥ fore s1ferepTt weH &t S B

Baffles are provided in heat exchangers to -------

(A) TifA% I S/ Increase the mechanical strength
(B) A &1 fAsTa/Remove the dirt
(C) ga! ®I UM Y I@+/Keep the tubes in position

(D) SSHIARUT & §gTH/Increase heat transfer area
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79. it aw YfSTUER & 3R-UR A HTYTTE ..o 1 TP IaEU G|
The flow of air across a heated radiator is an example for ------------------

(A) Wulfdd Hag-/Forced convection
(B) Widide Hdg-/Natural convection
(C) faferur/Radiation
(D) drad/Conduction

80. fpft afitrsy & 1R 7T 41T & Ul gfie YR R aifid ot S AR S HET T 8|

Amount of water evaporated per unit weight of steam fed to an evaporator is known

(A) <&dr/Efficiency
(B) &Hdr/Capacity

(C) YHRUI q¥/Feed rate
(D) UHAH/Economy

*kkhkhkhkhhkhkkkkk
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